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1. Evaluate : 5 + 6x2-8÷4

(a) 3 (b) 15

(c) -4 (d) 6

2. An angle of 89° is ___________ angle.

(a) acute (b) obtuse

(c) right (d) straight

3. The price of a watch is Rs. 982.75.How much money
will be needed to buy 46 such watches?

(a) Rs. 45,206.50 (b) Rs. 45,106.50

(c) Rs. 45000.50 (d) Rs. 45,200.00

4. 1 barrel = ________ litre.

(a) 216.42 (b) 119.24

(c) 2.5 (d) 456.1

1. ewY;kadu djsa% 5 + 6x2-8÷4

(a) 3 (b) 15

(c) -4 (d) 6

2. 89° dk dks.k ----------- dks.k gSA

(a) U;wu (b) vfèkd

(c) ledks.k (d) lhèkk

3. ,d ?kM+h dh dher 982.75 #i;s gSA ,slh 46 ?kfM+;k¡ [kjhnus
ds fy, fdrus iSls dh vko';drk gksxh \

(a) 45]206-50 #i;s (b) 45]106-50 #i;s

(c) 45000-50 #i;s (d) 45]200-00 #i;s

4. 1 cSjy ¾ ------------------ yhVjA

(a) 216.42 (b) 119.24

(c) 2.5 (d) 456.1

MATHS
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5. Find the difference obtained when 9/40 is subtracted
from 23/40 .

(a) 25/40 (b) 14/40

(c)  12/40 (d) None of these.

6. 21,673-4,723= 16,950; 21,673 is known as  ______ .

(a) minuend (b) subtrahend

(c) difference (d) addends

7. Find the missing alphabets : Z, ? , T, ?, N, ?, H,?, B.

(a) W,R,K,E (b) X,R,K,E

(c) X,Q,K,E (d) W,Q,K,E

8. The monthly income of Shiva is Rs. 7500.He spent 2/5
of that. How much did he save?

(a) Rs.2600 (b) Rs.3900

(c) Rs. 4500 (d) Rs.1600

9. Protractor : angle :: Compass: ?

(a) rectangle (b) square

(c) side (d) circle

10. The HCF of two co-prime number is always ______.

(a) 2 (b) 1

(c) 5 (d) 0

11. ( 2+ 3+4) x 10 =40 + 30 + __________

(a) 20 (b) 15

(c) 23 (d) 40

12. Two fractions are called like fraction ,if they have
same :

(a) numerator (b) denominator

(c) whole number part (d) all of these

5. 23@40 esa ls 9@40 ?kVkus ij çkIr varj Kkr dhft,A

(a) 25@40 (b) 14@40

(c) 12@40 (d) buesa ls dksÃ ugÈA

6. 21,673-4,723= 16,950; 21,673 dks ----------- ds :i esa tkuk
tkrk gSA

(a) fo;kstd (b) ?kVkuk

(c) varj (d) tksM+uk

7. yqIr v{kj Kkr dhft,% Z, ? , T, ?, N, ?, H,?, B.

(a) W,R,K,E (b) X,R,K,E

(c) X,Q,K,E (d) W,Q,K,E

8. f'ko dh ekfld vk; 7500 #i;s gSA mlus mlesa ls 2@5 [kpZ
fd;kA mlus fdruh cpr dh\

(a) 2600 #i;s (b) 3900 #i;s

(c) 4500 #i;s (d) 1600 #i;s

9. pk¡nk % dks.k %% ijdkj % \

(a) vk;r (b) oxZ

(c) Hkqtk (d) oÙ̀k

10. nks lg&vHkkT; la[;kvksa dk HCF ges'kk --------- gksrk gSA

(a) 2 (b) 1

(c) 5 (d) 0

11. ( 2+ 3+4) x 10 =40 + 30 + __________

(a) 20 (b) 15

(c) 23 (d) 40

12. nks fHkUuksa dks leku fHkUu dgrs gSa] ;fn muesa leku gksa%

(a) va'k (b) gj

(c) iw.kZ la[;k Hkkx (d) ;s lHkh
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13. Find the missing number : 81, 63, 45,_______,9 .

(a) 27 (b) 36

(c) 18 (d) 72

14. The cost of an antique vase is Rs.50 . Find the cost of 8
such antique vases.

(a) Rs. 400 (b) Rs. 567

(c) Rs. 190 (d) Rs. 250

15. How many lines of symmetry does the letter 'T' have?

(a) 5 (b) 4

(c) 1 (d) 2

16. How many lines of symmetry are there in the given
figure below ?

 

(a) 5 (b) 4

(c) 2 (d) 1

17. Which of the following gives largest value ?

(a) 2450+ 980-1411 (b) 4020-2963+969

(c) (7218+882) ÷4 (d) 3090-354 x3

18. Find the perimeter of square if side is 7cm.

(a) 35cm (b) 28cm

(c) 49cm (d) 14cm

19. How many zeros are there in 20 millions ?

(a) 7 (b) 8

(c) 9 (d) 3

13. yqIr la[;k Kkr djsa% 81, 63, 45,_______,9 .

(a) 27 (b) 36

(c) 18 (d) 72

14. çkphu Qwynku dh dher 50 #i;s gSA ,sls 8 çkphu Qwynkuksa
dh dher Kkr djsaA

(a) Rs. 400 (b) Rs. 567

(c) Rs. 190 (d) Rs. 250

15. v{kj 'T' esa fdruh lefer js[kk,¡ gSa \

(a) 5 (b) 4

(c) 1 (d) 2

16. uhps nh xÃ vk—fr esa fdruh lefer js[kk,¡ gSa \

 

(a) 5 (b) 4

(c) 2 (d) 1

17. fuEufyf[kr esa ls dkSu lcls cM+k eku nsrk gS \

(a) 2450+ 980-1411 (b) 4020-2963+969

(c) (7218+882) ÷4 (d) 3090-354 x3

18. ;fn Hkqtk 7 lseh gS rks oxZ dk ifjeki Kkr dhft,A

(a) 35cm (b) 28cm

(c) 49cm (d) 14cm

19. 20 fefy;u esa fdrus 'kwU; gSa \

(a) 7 (b) 8

(c) 9 (d) 3



Class : V/A1 IIT-JEE | NEET | NTSE | OLYMPIADS | KVPYPCP,  S ikar 4

www.princeeduhub.com

Space for Rough Work

20. Complete the series AB,DEF,HIJK,_________,STUVWX.

(a) QRTU (B) LMNO

(c) MNOPQ (d) QRSTU

21. The cost of a dozen of pencil is Rs.60 .Find the cost of
one pencil.

(a) Rs.12 (b) Rs.5

(c) Rs.30 (d) Rs.7

22. What is the sum of the value of digit  '8'in 438498 ?

(a) 16 (b) 88

(c) 8008 (d) 8080

23. Which of the following is equal to 75 x 100 ?

(a) 75×20×5 (b) 70+5×100

(c) 75×10 + 90 (d) 77+ 5×10

24. Subtracting ten thousand from one million gives .

(a) 9,90,000 (b) 90,000

(c) 99,000 (d) 9,99,999

25. Complete the series 125, 80, 45,20 ?

(a) 8 (b) 5

(c) 10 (d) 4

20. AB,DEF,HIJK,_________,STUVWX Jà[kyk dks iwjk djsaA

(a) QRTU (B) LMNO

(c) MNOPQ (d) QRSTU

21. ,d ntZu isafly dh dher 60 #i;s gSA ,d isafly dh dher
Kkr djsaA

(a) 12 #i;s (b) 5 #i;s

(c) 30 #i;s (d) 7 #i;s

22. 438498 esa vad *8* ds eku dk ;ksx D;k gS\

(a) 16 (b) 88

(c) 8008 (d) 8080

23. fuEufyf[kr esa ls dkSu 75 x 100 ds cjkcj gS\

(a) 75×20×5 (b) 70+5×100

(c) 75×10 + 90 (d) 77+ 5×10

24. ,d fefy;u esa ls nl gt+kj ?kVkus ij feyrk gSA

(a) 9,90,000 (b) 90,000

(c) 99,000 (d) 9,99,999

25. Jà[kyk 125, 80, 45,20 dks iwjk djsa\

(a) 8 (b) 5

(c) 10 (d) 4
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26. Sloth bear spends almost how much hours in a day
sleeping while hanging upside down on a tree?

(a) 16 hours (b) 17 hours
(c) 18 hours (d) 20 hours

27. Which solution is given when a person has vomiting
and loose motions ?

(a) ORS (b) Fruit juice
(c) Milk (d) Cold drink

28. Name the seeds which disperse by wind.

(a) Lotus (b) Rose
(c) Dandelions (d) All of these

29. Salt is made from
(a) Sea water (b) Lake water

(c) Fresh water (d) River water
30. Malaria is cause by the bite of :-

(a) Female Anopheles mosquito

(b) Housefly
(c) Mosquito

(d) Honey bee
31. Ants leave behind __________ when they move:-

(a) Water (b) Smell
(c) Blood (d) None of these

32. What is given to a sick person for getting instant
energy ?
(a) Glucose (b) Chocolate

(c) Ice- cream (d) Pizza
33. Identify the name of an insectivorous plant.

(a) Zenia (b) Cactus
(c) Money plant (d) Pitcher plant

26. lqLr Hkkyw ,d fnu esa isM+ ij mYVk yVddj yxHkx fdrus
?kaVs lksrk gS\

(a) 16 ?kaVs (b) 17 ?kaVs
(c) 18 ?kaVs (d) 20 ?kaVs

27. tc fdlh O;fä dks mYVh vkSj nLr gks rks mls dkSu lk ?kksy
fn;k tkrk gS\

(a) ORS (b) Qyksa dk jl

(c) nwèk (d) dksYM ÇMªd

28. mu chtksa ds uke crkb, tks gok ls QSyrs gSaA

(a) dey (b) xqykc

(c) Çlgi.kÊ (d) ;s lHkh

29. ued curk gS

(a) leqæ dk ikuh (b) >hy dk ikuh

(c) rktk ikuh (d) unh dk ikuh

30. eysfj;k fdlds dkVus ls gksrk gS%&

(a) eknk ,uksfQyht ePNj

(b) ?kjsyw eD[kh

(c) ePNj

(d) eèkqeD[kh
31. pÈfV;k¡ pyrs le; ihNs ----------- NksM+rh gSa%&

(a) ikuh (b) xaèk
(c) [kwu (d) buesa ls dksÃ ugÈ

32. chekj O;fä dks rqjar ÅtkZ ikus ds fy, D;k fn;k tkrk gS\

(a) Xywdkst (b) p‚dysV

(c) vkblØhe (d) fiTtk

33. ,d dhVHk{kh ikSèks dk uke crkb,A

(a) tsfu;k (b) dSDVl

(c) euh IykaV (d) fipj IykaV

SCIENCE
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34. Paint is soluble in
(a) Water (b) Kerosene
(c) Milk (d) Lemon

35. Which disease is caused by the deficiency of Iron:-
(a) Anaemia (b) Scurvy
(c) Chlorophyll (d) All of these

36. Dogs mark their areas by
(a) Urinating (b) Barking
(c) Seeing (d) Touching

37. Which part of the tongue tastes bitter?
(a) Front (b) Back
(c) Middle (d) Allof these

38. Potatoes and tomatoes came from which  of this
country ?
(a) India (b) China
(c) South America (d) Europe

39. What did Gandhij  do to break the salt law ?
(a) Dandi March (b) Ahmedabad March
(c) Champaran (d) All of these

40. In which year Ronald Ross was awaded the Nobel
Prize?
(a) 1900 (b) 1902
(c) 1800 (d) 1995

41. Silk worm can finds its female by its:-
(a) Smell (b) Sound
(c) Color (d) All of these

42. What is the muscular bag of digestive system called ?
(a) Liver (b) Intestine
(c) Stomach (d) Food pipe

43. Name the outermost part of a seed.
(a) Cotyledons (b) Seed coat
(c) Embryo (d) None of these

34. isaV fdlesa ?kqyu'khy gS

(a) ikuh (b) dsjksflu

(c) nwèk (d) uÈcw

35. vk;ju dh deh ls dkSu&lk jksx gksrk gS%&

(a) ,uhfe;k (b) LdoÊ

(c) DyksjksfQy (d) ;s lHkh

36. dqÙks vius {ks=ksa dks bl çdkj fpfàr djrs gSa

(a) is'kkc djds (b) HkkSaddj

(c) ns[kdj (d) Nwdj

37. thHk ds fdl Hkkx dk Lokn dM+ok gksrk gS \

(a) vkxs (b) ihNs

(c) chp (d) ;s lHkh

38. vkyw vkSj VekVj fdl ns'k ls vkrs gSa \

(a) Hkkjr (b) phu
(c) nf{k.k vesfjdk (d) ;wjksi

39. ued dkuwu rksM+us ds fy, xkaèkhth us D;k fd;k\

(a) nkaMh ekpZ (b) vgenkckn ekpZ

(c) paikj.k (d) ;s lHkh

40. eysfj;k ds ijthoh dh [kkst fdlus dh \

(a) M‚- jksukYM j‚l (b) M‚- C;weksaV

(c) M‚- gjxksÇcn[kqjkuk (d) M‚- lkjkHkkÃ

41. js'ke dk dhM+k viuh eknk dks fuEu esa ls igpku ldrk gS%&

(a) xaèk (b) èofu
(c) jax (d) ;s lHkh

42. ikpu ra= dh ekalis'kh; FkSyh dks D;k dgrs gSa \

(a) ;—r (b) vkar

(c) isV (d) Hkkstu uyh

43. cht ds lcls ckgjh Hkkx dk uke crkb,A

(a) chti= (b) cht vkoj.k

(c) Hkzw.k (d) buesa ls dksÃ ugÈ
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44. Name the sea on which every things floats.
(a) Dead sea (b) Arabian Sea
(c) Red Sea (d) None of  these

45. Mosquitoes lay eggs in:-
(a) Running water (b) Stagnant water

(c) River water (d) Salt water
46. Name of the bird which has eyes in the front of its

head.
(a) Owl (b) Sparrow

(c) Eagle (d) Hen
47. What are the tiny bumps present on the tongue

called?
(a) Taste buds (b) Smell buds

(c) Flower buds (d) None of these
48. Which part of a seed stores food ?

(a) Cotyledons (b) Seed coat

(c) Embryo (d) None of these
49. Change of water into water vapour is known as ____.

(a) Condensation (b) Evaporation
(c) Sedimentation (d) All of these

50. The young ones of frog is called

(a) Larvae (b) Tadpole
(c) Caterpillar (d) All of these

44. ml leqæ dk uke crkb, ftl ij lHkh phtsa rSjrh gSaA

(a) er̀ lkxj (b) vjc lkxj

(c) yky lkxj (d) buesa ls dksÃ ugÈ

45. ePNj dgk¡ vaMs nsrs gSa%&

(a) cgrk ikuh (b) fLFkj ikuh

(c) unh dk ikuh (d) [kkjk ikuh
46. ml i{kh dk uke ftlds flj ds vkxs vk¡[ksa gksrh gSaA

(a) mYyw (b) xkSjS;k

(c) phy (d) eqxÊ
47. thHk ij ekStwn NksVs&NksVs mHkkj D;k dgykrs gSa \

(a) Lokn dfydk,¡ (c) xaèk dfydk,¡

(c) Qwy dfydk,¡ (d) buesa ls dksÃ ugÈ

48. cht dk dkSu&lk Hkkx Hkkstu laxzghr djrk gS \

(a) chti= (b) cht vkoj.k

(c) Hkzw.k (d) buesa ls dksÃ ugÈ

49. ty dk tyok"i esa ifjorZu -------- dgykrk gSA

(a) la?kuu (b) ok"ihdj.k

(c) volknu (d) ;s lHkh

50. esa<d ds cPps dks D;k dgrs gSa\

(a) ykokZ (b) VSMiksy
(c) dSVjfiyj (d) ;s lHkh
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SOCIAL SCIENCE
51. Why do we keep food and vegetables in refrigerator?

(a) To make them crispy (b) To make them beautiful

(c) To make them fresh (d) All of these

52. What is main source of water on the earth ?

(a) Rain (b) River

(c) Pond (d) Lake

53. What did Aryanath's family make from plants
collected from forests ?

(a) Snake skin clothes (b) Medicine

(c) Food (d) Jewelry

54. Which of the following is a food preservation
method?

(a) Boiling food (b) Drying food

(c) Freezing food (d) All of the above

55. What is the main objective of making pickles, aam
papad, and chutney?

(a) To enjoy mangoes throughout the year

(b) To prevent food spoilage

(c) To add variety to meals

(d) To share with friends and family

56. Who wrote about the ponds and water systems in
India ?

(a) Pawan Gupta (b) Al-Biruni

(c) Devraj Agarwal (d) Meenu

57. Which of the following food items spoils quickly ?

(a) Milk

(b) Cooked rice

(c) Green coriander (Dhania)

(d) Onion

51. ge Hkkstu vkSj lfCt;ksa dks fÝt esa D;ksa j[krs gSa \

(a) mUgsa dqjdqjk cukus ds fy, (b) mUgsa lqanj cukus ds fy,

(c) mUgsa rkt+k cukus ds fy, (d) mijksdr lHkh

52. i`Foh ij ikuh dk eq[; lzksr D;k gS \

(a) o"kkZ (b) unh

(c) rkykc (d) >hy

53. vk;ZukFk dk ifjokj taxyksa ls ,d= ikSèkksa ls D;k cukrk F k k
\

(a) lk¡i dh [kky ls cus diM+s (b) nok

(c) Hkkstu (d) vkHkw"k.k

54. fuEufyf[kr esa ls dkSu lh [kk| laj{k.k fofèk gS \

(a) Hkkstu dks mckyuk (b) Hkkstu dks lq[kkuk

(c) Hkkstu dks tekuk (d) mijksä lHkh

55. vpkj] vke ikiM+ vkSj pVuh cukus dk eq[; mís'; D;k gS \

(a) iwjs lky vke dk vkuan ysuk

(b) Hkkstu dks [kjkc gksus ls cpkuk

(c) Hkkstu esa fofoèkrk ykuk

(d) nksLrksa vkSj ifjokj ds lkFk lk>k djuk

56. Hkkjr esa rkykcksa vkSj ty ç.kkfy;ksa ds ckjs esa fdlus fy[kk
gS \

(a) iou xqIrk (b) vy&fc:uh

(b) nsojkt vxzoky (d) ehuw

57. fuEufyf[kr esa ls dkSu lk [kk| inkFkZ tYnh [kjkc gks tkrk gS\

(a) nwèk

(b) idk gqvk pkoy

(c) gjk èkfu;k

(d) I;kt
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58. How many types of snakes are poisonous in India?

(a) 6 types (b) 4 types

(c) 8 types (d) All of these

59. Why is Vitamin C needed during mountaineering ?

(a) It dissipate extra energy

(b) It gives instant energy

(c) Both (a) and (b)

(d) None of these

60. What is the height of Mount Everest?

(a) 8000 M (b) 8848 M

(c) 8890 M (d) 8852 M

61. To climb a mountain a person should be ______ .

(a) Physically fit (b) Physically unfit

(c) Partially fit (d) Partially unfit

62. Which type of road doesn't allow rainwater to soak in
the ground ?

(a) Muddy Roads (b) Rocky Road

(c) Cemented Roads (d) None of these

63. Which animal dances when "been" is played?

(a) Lizard (b) Tortoise

(c) Crocodile (d) Snake

64. Why should we not eat junk food ?

(a) Good for health (b) Not good for health

(c) Give us energy (d) All of these

65. How do we come to know that food has got spoilt ?

(a) By its colour (b) By its taste

(c) By its smell (d) All of these

58. Hkkjr esa fdrus çdkj ds lk¡i tgjhys gksrs gSa \

(a) 6 çdkj (b) 4 çdkj

(c) 8 çdkj (d) ;s lHkh

59. ioZrkjksg.k ds nkSjku foVkfeu C dh vko';drk D;ksa gksrh gS \

(a) ;g vfrfjä ÅtkZ dks u"V djrk gS

(b) ;g rqjar ÅtkZ nsrk gS

(c) (a) vkSj (b) nksuksa

(d) buesa ls dksÃ ugÈ

60. ekmaV ,ojsLV dh Å¡pkÃ fdruh gS \

(a) 8000 eh (b) 8848 eh

(c) 8890 eh (d) 8852 eh

61. igkM+ ij p<+us ds fy, O;fä dks --------- gksuk pkfg,A

(a) 'kkjhfjd :i ls LoLFk (b) 'kkjhfjd :i ls v;ksX;

(c) vkaf'kd :i ls LoLFk (d) vkaf'kd :i ls v;ksX;

62. fdl çdkj dh lM+d o"kkZ ds ikuh dks tehu esa ugÈ tkus
nsrh \

(a) dhpM+ Hkjh lM+dsa (b) iFkjhyh lM+dsa

(c) lhesaV dh lM+dsa (d) buesa ls dksÃ ugÈ

63. ÞchuÞ ctkus ij dkSu lk tkuoj ukprk gS \

(a) fNidyh (b) dNqvk

(c) exjePN (d) lk¡i

64. gesa tad Q+wM D;ksa ugÈ [kkuk pkfg, \

(a) LokLF; ds fy, vPNk (b) LokLF; ds fy, vPNk ugÈ

(c) gesa ÅtkZ nsrk gS (d) ;s lHkh

65. gesa dSls irk pyrk gS fd [kkuk [kjkc gks x;k gS \

(a) mlds jax ls (b) mlds Lokn ls

(c) mldh xaèk ls (d) ;s lHkh
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66. The kitchen and laundry are high consumers of water
using between 15-20% of total water consumption.
What is the most effective way to save water in these
rooms?

(a) Only use appliances when full

(b) Use energy efficient appliances

(c) Re use rinse water from the washing machine

(d) Plug the sink when washing dishes or peeling
vegetables

67. Paths on mountains are.

(a) Uneven (b) Rocky

(c) Both (d) None

68. Which dance form have movements similar to snake
movements ?

(a) Bharat Natyam (b) Kathak

(c) Kalbeliya (d) None

69. Khondonbi was from which state.

(a) Mizoram (b) Assam

(c) Tripura (d) Rajasthan

70. What is the occupation of Aryanath's family ?

(a) Farmers (b) Snake charmers

(c) Doctors (d) Hunters

66. jlksÃ vkSj diM+s /kqykbZ ikuh dh lcls T+;knk [kir djrk gS
vkSj dqy ikuh dh [kir dk 15-20% fgLlk [kpZ djrk gSA bu
dejksa esa ikuh cpkus dk lcls çHkkoh rjhdk D;k g S
\

(a) dsoy iw.kZ {kerk gksus ij gh midj.kksa dk mi;ksx djsa

(b) ÅtkZ dq'ky midj.kksa dk mi;ksx djsa

(c) okÇ'kx e'khu ls fudyus djus okys ikuh dk iqu% mi;ksx
djsa

(d) crZu èkksrs le; ;k lfCt+;k¡ Nhyrs le; Çld dks Iyx djsa

67. igkM+ksa ij jkLrs gksrs gSa%&

(a) vleku (b) iFkjhys

(c) nksuksa (d) dksÃ ugÈ

68. fdl uR̀; 'kSyh esa lk¡i dh pky ds leku gjdrsa gksrh gSa \

(a) Hkjr ukVîe (b) dFkd

(c) dkycsfy;k (d) dksÃ ugÈ

69. [kksaMksach fdl jkT; ls FksA

(a) fetksje (b) vle

(c) f=iqjk (d) jktLFkku

70. vk;ZukFk ds ifjokj dk O;olk; D;k gS \

(a) fdlku (b) lisjs

(c) M‚DVj (d) f'kdkjh
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ENGLISH
Choose the correct option.

71. Netaji Subhash Chandra is India's glory .This sentence
is-

(a) assertive sentence (b) interrogative sentence

(c) imperative sentence (d) exclamatory sentence

72. Don't ever touch my phone .This sentence is-

(a) interrogative sentence

(b) imperative sentence

(c) exclamatory sentence

(d) optative sentence

73. You did a really good job.This sentence is-

(a) imperative sentence(b) exclamatory sentence

(c) assertive sentence (d) interrogative sentence

74. Choose the masculine gender of 'nun'.

(a) maid (b) monk

(c) steward (d) none of these

75. Choose the plural form of compound word'
commander-in-chief'.

(a) commanders-in-chief

(b) commander-in-chiefs

(c) commanders-in-chiefs

(d) none of these

76. The abstract noun of 'create' is-

(a) creating (b) creation

(c) create (d) created

77. __________ did you see off at the airport ?

(a) Who (b) Whose

(c) That (d) Which

78. I've never liked ____________ bag of yours.

(a) these (b) this

(c) those (d) none of these

79. Don't touch _____________ pan! It is hot.

(a) that (b) who

(c) whose (d) whom

80. The boys were ________ to hear that we were going
to build a bridge.

(a) delight (b) delighting

(c) delighted (d) delights

81. Choose the correct past tense of the word 'Run'.

(a) Runned (b) Ran

(c) Ranned (d) Running

82. The Nile is the ___________ river in the world.

(a) long (b) more longer

(c) longest (d) longer

83. Ansh pulled the handle of the door hard _____ it was
jammed.

(a) and (b) that

(c) because (d) but

84. I visit Grand Canyon ___________ I go to Arizona.

(a) whenever (b) unless

(c) once (d) wherever
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85. _______ being hungry,she couldn't eat the food served
in that restaurant.

(a) In case (b)Because

(c) In spite of (d) Whether

86. My father has been teaching in this college ___ 1980.

(a) for (b) since

(c) from (d) in

87. You don't need to get upset _____ these little things.

(a) for (b) about

(c) off (d) of

88. Is your exam _____ the 30th December ?

(a) on (b) in

(c) at (d) under

89. My friend _______ short legs.

(a) have (b) has

(c) are (d) none of these

90. The boys _____ a fight yesterday .

(a) has (b) was

(c) had (d) have
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MAT
91. 4, 8, 16, 32, 64 ?

(a) 122 (b) 126

(c) 124 (d) 88

92. 0, 4, 6, 3, 7, 9, 6, ?, 12

(a) 8 (b)10

(c) 11 (d) 12

93. 1, 1, 4, 8, 9, 27, ?

(a) 9 (b) 12

(c)16 (d) 27

94. APK, BRL, CTM, ?

(a) DRY (b) LKR

(c) DVO (d) DVN

95. Arrange these words in dictionary order ___

1. Cow 2. crow

3. Crown 4. Crowed

(a) 1, 2, 4, 3 (b) 1, 2, 3, 4

(c) 3, 4, 1, 2 (d) 4, 1, 2, 3

96. Arrange these words in alphabetical order ____

1. on 2. in

3. out 4. come

(a) 1, 2, 3, 4 (b) 4, 3, 2, 1

(c) 4, 1, 3, 2 (d) 4, 2, 1, 3

91. 4, 8, 16, 32, 64 ?

(a) 122 (b) 126

(c) 124 (d) 88

92. 0, 4, 6, 3, 7, 9, 6, ?, 12

(a) 8 (b)10

(c) 11 (d) 12

93. 1, 1, 4, 8, 9, 27, ?

(a) 9 (b) 12

(c)16 (d) 27

94. APK, BRL, CTM, ?

(a) DRY (b) LKR

(c) DVO (d) DVN

95. bu 'kCnksa dks 'kCndks'k Øe esa O;ofLFkr djsa ----

1. Cow 2. crow

3. Crown 4. Crowed

(a) 1, 2, 4, 3 (b) 1, 2, 3, 4

(c) 3, 4, 1, 2 (d) 4, 1, 2, 3

96. bu 'kCnksa dks o.kZekyk Øe esa O;ofLFkr djsa -------

1. on 2. in

3. out 4. come

(a) 1, 2, 3, 4 (b) 4, 3, 2, 1

(c) 4, 1, 3, 2 (d) 4, 2, 1, 3
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97. If arrange these words in alphabetical order, which is

comes at first place

1. Nature 2. Native

3. Narrate 4. Nascent

(a) Nature (b) Native

(c) Narrate (d) Nascent

98. If 'plus' is called 'multiple 'multiply  is called 'plus'

'divide is called 'subtraction'  and 'subtraction' is

called. 'Divide '......

10 + 22 * 10 - 5 ÷ 5 = ?

(a) 218 (b)229

(c) 217 (d) 230

99. If 'multiple 'is  called 'plus'  'plus' is  called 'multiple',

'devide' is called 'subtraction' 'subtraction' is called

'devide '

14 + 2 * 30 - 6 ÷ 8 = ?

(a) 20 (b) 28

(c) 25 (d) 33

100. 1, 8, 27, 64, ?

(a) 84 (b) 120

(c) 125 (d) 94

97. ;fn bu 'kCnksa dks o.kZekyk Øe esa O;ofLFkr fd;k tk,] rks

dkSu lk igys LFkku ij vk,xk

1. Nature 2. Native

3. Narrate 4. Nascent

(a) Nature (b) Native

(c) Narrate (d) Nascent

98. ;fn *tksM+* dks *xq.kk* dgk tkrk gS] rks xq.ku dks *tksM+* dgk

tkrk gS] *Hkkx^ dks *?kVkuk* dgk tkrk gS vkSj *?kVko* dks *Hkkx*

dgk tkrk gS------

10 + 22 * 10 - 5 ÷ 5 = ?

(a) 218 (b)229

(c) 217 (d) 230

99. ;fn *xq.kk* dks *tksM* dgk tkrk gS] rks *tksM* dks *xq.kk* dgk

tkrk gS] Hkkx^ dks *?kVkuk* dgk tkrk gS *?kVko* dks Hkkx^ dgk

tkrk gS

14 + 2 * 30 - 6 ÷ 8 = ?

(a) 20 (b) 28

(c) 25 (d) 33

100. 1, 8, 27, 64, ?

(a) 84 (b) 120

(c) 125 (d) 94


